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Note : Question No. 1 is compulsory. Answer any
other four questions. All questions carry

equal marks.

1. (a) Given below is a list of activities for each,
state an area of development in which the

activity primarily fosters development. The
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(b)
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first one has been done for you as an
example : 10

e.g. Activity Area of development

Threading beads Fine motor development

(1) Role play

(11) Running to touch a tree

(i11) Making a tower with blocks

(iv) Matching cards of similar shape

(v) Singing rhymes

(vi) Drawing as per imagination

(vi1) Narrating a story

(viil) Playing a team game

(ix) Predicting whether object will float or

sink 1n water
(x) Throwing a ball

Explain the following in a few sentences

each : 2%x5=10

(1) Gross motor development



(a)

(b)

(a)

(b)
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(1) Egocentrism
(111) Head-to-toe direction of development
(iv) Child-centeredness
(v) Anecdotal records
Describe any two play activities for

fostering cognitive development of four-

year old children. 2x5=10

Give one example each which shows the

following abilities of the infant : 2x5=10
(1) Goal-directed behaviour

(1) Experimentation

During which stage of development does
the child develop the sense of trust ? How

does this develop and why is it important

for the child to develop it ? 10

State three ways through which parents
can develop altruism and empathy in their

children. 10
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6.

(a)

(b)

(a)

(b)
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Describe the stages in  language
development in the first year of life. Give

suitable examples. 10

Explain five strategies/activities through
which the caregiver can foster the child’s
language development in the first two

years. 10

Describe the three food groups and give
examples of two foods from each food
group. 10
Give an example of a balanced lunch menu
for a six-year old child. What are the
nutrients that the child will get from the

different items of the lunch menu ? 10

You have to enrol your child in a preschool

centre. State five aspects that you will look for

when evaluating whether it is an appropriate

preschool. Give justification as to why you

consider these five points as important. 20
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7. Write on any two of the following : 10 each

(a)

(b)

(©

(d)

Five strategies for effective story selection

and narration.

Five principles to nurture children’s

creativity.

Five characteristics of thinking of the

preschool child.

Five points to keep in mind while
evaluating a play activity conducted by a

preschool teacher.
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7. fTrafafea 5 9 o=t 3 fawai w fafau

2x10=20
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